PERMIT

CDBG

CITY OF NAPOLEON, OHIO — DEPT. OF BUILDING & ZONING 255 W. Riverview Avenue, Napoleon, Ohio 43545 (419) 592-4010

	·** • 163				
Permit No	103			Date 11-2	1-80
Job Location 8	Demolitions Address		Valuation \$		
Owner per bi	ids Name	W- Main Addr	ess		
Contractor Wren	Reese, Inc.		Telephone No.	599-2065	
Address_	P.O. Box 349	Napoleon,	, он. 43545		
Electric Contractor_					
)r				
	otor				
imitea, e	mit is issued for work desci is approved by the Building to all pertinent construction	Commissioner of the 0	City of Nanoleon (This Work shall	
Work Information:					
Residential	o. dwelling units Com	nmercial	Indust	rial	
New Construction_	Add	dition	Rem	ndel	
Brief Description of	Work8 demol				
	Building Official 14. 9				
is the owners or cor uilding Department	ntractors responsibility to ca for the following (x) inspect	all the tions:	DEOM	IT & FEES	
Footis		Di.dia			
concr	ng excavation prior to placion ete.	•	ng Permit cal Permit	\$ \$	
Footin	ng drains and foundation pri		ing Permit	Φ	
to bac			nical Permit	Ф Ф	
	red sub-grade prior to placin	ng l	ition Permit	\$ 105.00	
	ete floor slab.	1	p Permit	\$	
	ry sewer	Sign P		\$	
Hougr	n-in electrical, plumbing ar e framing prior to installir	nd -		\$	
wall be		Sewer	•	\$	7/3
	electrical, plumbing ar		·	\$ SIT	_
heatin		Other		\$ 14	00
XX Final I	building inspection, prior t	to		Olfor	0
occup	аноу.		TOTAL FEES	\$ 105.00	
			LESS FEES PAID	\$ 105.00	
ermit is not valid unti e void if work is not s	l all fees are paid in full, and started within six months of	shall E	BALANCE DUE	\$	

above.

WREN REESE, INC. • General Contractors

BRIDGES • ROADS • PILE DRIVING • PAVING • HEAVY CONSTRUCTION

P. O. BOX 349 NAPOLEON, OHIO 43545 TELEPHONE: 599-2065

A. C. 419

November 21, 1980

Mr. Richard Hayman Building Commissioner City of Napoleon 255 W. Riverview Napoleon, OH 43545

Dear Sir:

We request a demolition permit for the following properties which have been designated for removal by the City of Napoleon, Ohio:

NO.	ADDRESS	TYPE	SIZE	S.F.	FEE
1.	Riverview Ave.	Barn	15 x 26.	390	
2.	746 W. Main	Shed	10 x 12	120	
3.	628 Leonard	Shed	8 x 10	80	
4.	946½ Perry	Shed	15 x 18	270	
5.	744 W. Washington	Barn	15 x 30	450	
6.	505 S. Perry	Barn	30 x 50	1500	
7.	206 Lagrange	Barn	35 x 50	1750	
8.	112 E. Front Com	m.Bldg.	50 x 70	3500	

Very truly yours,

WREN REESE, INC.

Wren T. Reese Secretary

WTR:jef

CITY OF NAPOLEON BUILDING INSPECTION DEPARTMENT APPLICATION FOR BUILDING PERMIT (Please print or type)

The undersigned hereby makes application for construction, installation, or alteration work as herein specified, agreeing to do all such work in strict accordance with the City of Napoleon's adopted Building Codes.

pro Lagran		and the state of t		
Locati	on of project	746 W. MA	Cost of	project
Owner'	s Name Robert	TD WULF	AUNTOSS VIII	HE W MAHN
Contra	actor WRIEN 1	PEBS F	Telephone No	. 599-2065
, i	address Pa Bo	N 3 49	MAPOLIZON	and the second prompting and the second prompting and the second and the second and the
Lot In	nformation: (Not	required for s	siding job)	
Lot No		_ Subdivision_	SHEFFIELDS	3RD
Zoning	District B	Lot Size	ft. Xft.	Areasq. it.
Setbac	ks: Front	Right Side	Left Side	Rear
Work 1	information:			
Reside	ential	Commerci	cial I	ndustrial
			n по подружения по подрежения по	emodel
Access	sory Building	emolitis	Siding	and the contract of the contra
	Description of W		(Sp	ecific Type)
Size:	Length /O	Width 12	No. of Stories	A CONTRACTOR OF THE PROPERTY O
Area:	lst Floor	sq. ft.	Basement	SQ a II.
	2nd Floor	sq. ft.	Accessory Bldg	S.G. J.C.
	3rd Floor	sq. ft.	Other	sq. ft.
Additi	onal Information			as edugadorei desta constitución de desta constitución de la constituc
-		nakkara, kr Rangkaji in alikus - s. krepani - 1886 kilakijani in kapataje anti unos Jung pi antika		and appendix and the configuration and appendix and all another configuration and the configurations of a major
			PANIED BY TWO COMP	
ADDITI	ION OR REMODELING	, SHOW ALL EXIS	CROSS SECTIONS AND STING STRUCTURES AN	D THEIR SIZE AND
LOCATI	ON. ALL PLANS	HALL BE DRAWN	TO SCALE.	EN REESE
Date	112 80	Annflagn	C'a Signature M	